00000 (REOOODODO)

20050 90 260

1 OO0 cCcCcOgoooog 1.2 000000000
[01] 0000000000000 0O00000O e 000000000 [degDDDDOOODDOOODODO
Og00jo[0]jooo0o00o0oooOooooo oooooooo
Donooooooonoba0dononn e JOUIUODUUOULOODDOODLDOUOUOO
oooood
#include <stdio.h> h
1.1 1000 o |
e D 10O0DODODOODO . .
int main(){
Hello World !!
double rad, deg;
™ /¥ ——- 0000000000000 --- 0O/
#include <stdio.h> printf ("0 0 [degl?\t");
int main(){ scanf ("}1f",&deg) ;
o /¥ ——- 00000 ---%/
return O; rad=deg/180.0%3.14159265;
b printf("sin = %f\n",sin(rad));
\_ ) printf("cos = %f\n",cos(rad));
printf("tan = %f\n",tan(rad));
ood
return O;
e[ 0 |OODOO }
(a) scanf ("Hello World !'\n"); \_ J
(b) write("Hello World !'!'\n"); oog
(c) put("Hello World !'\n"); e[ 0 JODOODO
(d) printf("Hello World !'\n");

a #include <c.h>

(
(b

#include <c_language.h>

)
)
(c) #include <mathematics.h>
) #include <math.h>

(d




1.3 00o0ooogd
e 1O0ODODODO 20000000000

e 000D 20000000000 ODLOOOODOODO

#include <stdio.h>

1.4 00OO0O0oOoobooOoOon

e J00D0DUDDDN [deg) DOOODODODOOOODO

gooooood

e 100D OODDODOUDDUD radjD0OODOODO

gogod

int mainO{ #include <stdio.h> h
O 1
int main(){
/ ——— 0000000000000 --- O/ 0
printf("O000D0O0O?\t");
scant (*4d", &1) ; /+ --—- 0000000000000--- O/
printf("O00 OO ?\t"); .
. . printf ("0 0 [degl?\t");
scanf ("%d",&j) ;
O ]
/* ——= 00000 ---%/
printf ("%d/%d=\n",1i,j); /¥ —— 00000 ---%/
O ] (O ]
[ O ] printf ("%f [rad]l\n",rad);
return O; return 0;
} }
N AN J
goo ggd
o[ 0O |OODOO e[ 0O JOOODO
(a) double 1i,j; (a) double rad, deg;
(b) int i,j; (b) double x, y, z;
(c) complex 1i,j (c) int rad, deg;
(d) int x, y (d) angle rad, deg
o[ 0 |ODOOO e[ 0 |O0DOODO
(a) printf ("\t O \t%d\n",i/j); (a) scanf ("%1£f",&deg) ;
(b) printf ("\t O \t/d\n",i+j); (b) scanf ("%1f",deg);
(c) printf ("\t O \t%d\n", jf.) ; (c) printf ("%1f",&deg) ;
(d) printf ("\t O \t%d\n",quotient(i,j)); (d) read ("}1f",&deg) ;
o[ 0 |ODOOO o[ 0 |O0DOODO
(a) printf ("\t O O \t%d\n",i+j); (a) deg/180.0%3.14159265=rad;
(b)  printf("\t 00 \t%d\n",i*j); (b)  rad <- deg/180.0%3.14159265
(¢)  printf("\t 00 \t%d\n",i#j); (c)  rad=deg180.0%3.14159265;
(d)  printf("\t O0O\tkd\n",i%j); (d) rad=deg/180.0%3.14159265;



1.5 whileJUOOOOOO

e while U OOO D10 100000000000000O0O0OO

#include <stdio.h>
int main(){

int i, sum;
/*--- 000

sum=0;
i=1;

___*/

[ O ]
[ O ]
L0 ]

3

/* sum=sum+i */

printf("sum = %d\n",sum);

return O;

}

o
0ooQ

e[ 0 _JOOOD
(a
(b

(c
(d

e[ 0 |OODODO

sum+i=sum

) while_do(i<=1000)
) loop(i<=1000)

) while(1000)

)

while (i<=1000)<{

sum=i
sum+=i;

i=j

1.6 doUwhileO DO UOOOO

e doUwhileOOOOODOIO100000000O00DOO0O0O0
gooo

~

#include <stdio.h>
int main(){
int i, sum;

/x-—- 000
sum=0;

___*/

i=1;

/* sum=sum+i */

printf ("sum = %d\n",sum);

return O;

while{
do{
done{

does{

}while (i<=1000) ;
}if (i<=1000);
else if(i<=1000);

continue(i<1000) ;



1.7 0O0o0go

o I000DOO0OODODDODOOOODOODLOODODLOO

e 000D DOOOOOOOOLODOOOODOOODO

#include <stdio.h> R
#define N 10
int main(){
char temp;
L O 1]
int sum_gusu, sum_kisu;
/¥ 0000000000000 00004a =/
for(i=0; i<N; i++){
printf("%d 0000 0O?\t",i+1);
L O 1
}
/¥ —— 000000000 o0000 --- %/
sum_gusu = 0;
sum_kisu = 0;
/¥ ——— 00000000000 --- %/
for(i=0; i<N; i++){
0] /00000 %
sum_gusu += input_num[i];
[0 ] /000000 %
sum_kisu += input_num[i];
}
}
printf ("0 00O \t%d\n",sum_gusu) ;
printf ("0 00O \t%d\n",sum_kisu);
return O;
}
N J

god

[0 JOOOO
(a) double i, input_num[N]
(b) int[10] i, input
(c) dimension i, input_num([N]
(d) int i, input_num[N];
[0 JOoOOO
(a) scanf ("%d%c", &input_num[i],&temp);
(b) scanf ("%d%c", &input_num,&temp) ;
(c) scanf ("%d%c", input_num([i],temp);
(d) scanf (&input_num[i] ,&temp) ;
[0 JODOOO
(a) if (input_num[i]%2 == 0){
(b) if (input_num[i]¥%3 == 0){
(c) if (input_num%2 == 0){
(d) if (input_num[i]%2 == 2){
e[ 0 ]OOOD
(a Ybreak{
(

}continued{

)

b) Yelse{
)
)

Ywhile{



1.8 0J0OO0O0Oogdn ooo

e 00000 O0360000D01000000000000 e[ O JOOOO
oooo

(a)  DISK *fp;
e J0ODDODOODODOOO Oldeg] O sinf0cosf0tan 6 O (b) TABLE *fp;
goooooobooobood
(c) DRIVE *fp;
d FILE *fp;
#include <stdio.h> h (@) P
#include <math.h> e[ 0 |0DDOO
int main(){ (a) fp=fprintf("triangle_table.txt","w");
int theta; (b) fopen("triangle_table.txt","w")=fp;
double rad, s, ¢, t; (c)  fp=fscanf("triangle_table.txt","w");
(d) fp=fopen("triangle_table.txt","w");
/000000000 =/ e[ 0 |ODDODO
L O 1]
(a) fprintf(fp,"%d\t%E\t%E\t%f\n",theta,s,c,t);
for(theta=0; theta<=360; theta++) { (b) fprlntf (fp, "%d\n%f\n%f\n%f\n" ,theta, s,c ,t) ;
/00000000 #*/
rad=theta/180.0%3.1415926; (c) fwritef (fp,"%A\t%E\t%E\t%f\n",theta,s,c,t);
(d) furitef(fp,"%d\n%f\n%f\n%f\n",theta,s,c,t);

/* 0000000 =/
s=sin(rad);
c=cos(rad) ;
t=tan(rad);

/« 0000 =/

L O ]
}

/000000000 =/
fclose(fp);

return O;




1.9 00O0O40og
e JODOODODLOODOODO30OOOOOLOODO
e JODOOO0OODOODOOODLOODOOOODOODO

e O OOODO300O0DDOODDOOOOOYOODOO
gooooroooooop20000000 100000
gbooboooooood

~

#include <stdio.h>
#include <math.h>

double heron(double x, double y, double z);
/* */
/* main 00O */
/% */
int main(){

double a, b, c, s;

char temp;

printf("0000 30000 7?\n");
scanf ("Y1£%1£%1f%c", &a, &b, &c, &temp);

s=heron(a, b, c);

if (8<-900){

printf ("0 00000000 \n";
}elsed{

printf("O000 0% 000 \n",s);
}

return O;

3

/* */
/* 0000000000 0O0000O000obooboon x/
/* */

double heron([ O |){

double s, menseki;

if (O )
return -999;

3

s=(x+y+z2)/2.0;
menseki=sqrt (s*(s-x)*(s-y)*(s-2));

L0 ]

ggdd

e[ 0 JOOODO
(a) int x, int y, int z
(b) double x, double y, double z
(c) double a, double b, double c
(d) double x, y, z

e[ 0 JOODODO
(a) (x+y)=z || (y+z)=x || (z+x)=y
(b) (x+y)<z || (y+z)<x || (z+x)<y
(c) (x+y+2)>0
(d) sin(x)+sin(y)+sin(z)<0

e[ 0O |JOOODO
(a) end;
(b) return menseki;
(c) stop menseki;
(d) goto main;



1.10 0d0bOOoood

e 00OODO a, b, cOO0ODOOODODa—=bUb—cl

c—alO0O0O0O0OO

e JO0OODODODDOOODOODOODOD rotO®
goo

#include <stdio.h>

int rot(int *x, int *y, int *z);

/* */
/* main OO */
/* */

int main(){

int a, b, c;

)
Il

1
2;
3.

)

(el en
l

printf ("a=%d\tb=Yd\tc=kd\n", a, b, c);

rot(&a, &b, &c); /¥ 0000000 %/

printf ("a=%d\tb=Y%d\tc=/d\n", a, b, c);

return O;

}

/* */
/* gooooobbobooooo */
/* */

int rot([_ O ]){
int rot(){
int temp;

temp=x*z;
Xz = *y;

*y = *X;

L0 ]

return 0O;

oog
o[ 0 |O0OODO
(a) int *x, int *y, int *z
O (b) int x, int y, int z
c double *x, double *y, double *z
y
N (d) double x, double y, double z
[0 JOoOOO
(a) *X=*Z
(b)  =x=y;
(c) temp=*x;
(d) *X = temp;
)



2 00

(01 0000000000000 O00O0O0O0O0O0OODOO0OOOOOoOO
#define TEST 100000

(02 O0O0O0O0DO0OO0O0OOO0O0O0OO0OOOO0OOOOOO0OOOOO

while(fscanf (fp, "%d%1f%1f%1f", &theta, &s, &c, &t) != EOF){
printf ("%d\t%E\t%f\t%f\n", theta, s, c, t);
}

(03] OUOO0O0OODOOOOUUOODOUOODLOOOOUODOOUi0O0O0OOO
i=(int)sqrt(200.0) ;

3 Ugooo

(01 for0000O0O01010000000000000O0O0000O0OOO
(0 2] OOODOOUODOOOOOOOOOOOOOOOO

- 01000000 ~O00000O0O0DODODOOODOODOODOODO ~OODOOOO

- 00 1/4000000000000000000000OO00O0O0OODOOOOO0O0O 1/40000000
oooobooooobobobo 4000000000000DOODOOO

— Dobboobpoboobbdo<z<10OnnbO000O00DOO00DOO0ODOOD nO00D0OODDOO
b0 n0O02010000000000000000O00O000O00D0OOOCOODOOOOODOOOOOODOO
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